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% sin" x +a, sin" "' x cos x +a, sin""* x a— @Q«mk*’b&m‘)

cos® x +...+a, cos” x=0,

Bowda (9?5 Con' 2 > W@ﬂm%w wks 0
/}TB%MV\N\G& MAW’L

’\'ﬁM')L-\'OLl‘\ﬁ»‘L—\—O\‘\ﬁM Koo

aloe oy lonmeh i

5sin? x —7sin xcos X+ 16cos? x = 4. & -
2 ]

lh— \é;bfge’cfl)(‘. g
5o —F Jewo o = o b

t Claart )
o= N+ 0

4R, =0

W\

gmakvqéﬂf\/\l*\]?
Jew e —Tawn +12 70
G@w%%}(%k'@ =0

o= 3%+ rchon (3) ) T axcionl(y)
Equation of the Form ) YR
R (sin kx, cos nx, tan mx, cot Ix) =0, U2 e MUG(W O\Mjh u&.QA/\XT\h('/)
e w2 A+ Yo 8
) )]
" \)
2 g b wb M \,M@
| 4ot -

A op - Yreud



2B U - — B
— | = Ho @

\./’\‘0\”?/@-» _—
o, 28 = Hreud
| dew’ O
Care» |bantt
: 3
(COSX—Sinx)LZtanx+__1_]+2=o ’Ll \‘Wg@w
' ' o CO8X Con = 1= T h e = Hew
[+ o’ Ufa [ You Mo
| = 2o Yo . Jama = Voot
( — /2> [ Rl S “) +1=0. el
\—F»}&/\l\’)x/,, . |- +em (’WQWIV 2z

tfzt-€>( Lft+k+13> to-0

| $4% | —t*

R Fol-¢) = O-

Mgt g 42 43 =0 e
LY 4 LT +8E -~ 2k -3 = O ﬁ‘/D\\ -9 O
B B L O S
Bevyaes) ¥ (66520 = O @ 1%
_ ’ C L
(e b 50D
[ 20" r) - 1) fee (30 = O G
() (30 £ 2D ety
(3¢-0) (£53420) = O
(39«\) (JcZJrQH%) =D Wy = 0l Jf% )
Equation of the Form N \\r’; pe WA

R (sin x +cos x,sin x - cos x) =0,

2
@Mm+um> = QWQLAV 't Q L L -

2 _
CMKJVOWD = | 2 S ton -

' 7
.
2-



sin X+ cos X —2+4/2 sin x cos X =0

Find the number of integral values of k for which equation 7cos x +5sin x =2k + 1has at least one solution.

Solve 2sin? x ~5sin x cos x ~8cos? x =—2.



Solve the equation (1-tan 8)(1+sin20)=1+ tan 6.



